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Math 120 Midterm Test 1  Sep. 29, 2006 50 min.

1. For each of these short-answer questions, write your final answer in the box provided. Only
your final answer will be graded, any preliminary work will not be looked at.

(a) Find lim,_, _g J2lE+8) _B/Z
e Vo 11.1(1+3)

123 (ae3))
lisn {-—,ulu. 1_331 = __EL

el

2=-5 ) =3¢\ =5

i

(b) Compute the derivative of f(x) = %T—:; - LP% :}\)1_
Fx) = 1) =[5
: 5,
()
el i €,

P b

Clax)
{¢) Find an equation for the tangent linetoy = 1+ 3zratxz =1 Sy = :f';_tx_ + Q%_f

) W
‘?(1\1 = ([F?:‘x.) e

FC)= 472=2 i
Sl = L) 23

.
PO 5.8

=) ‘\m?xjr '!-'I\r_. IS
9= )+ L

_ <
3/ _{'J- & /11



(d) Find all numbers b such that the function
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(e) Find h'(1), if h(z) = +/ f(xzg(zx)), where f and g are differentiable functions satisfying
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2. Sketch (roughly) the graph y = z*. Find an equation for the line normal to this graph at a
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3. Use the definition of limit to prove that

lim(z — 1) = 0.
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4, Is the function
if & is rational

flzx) = { 0 if z is irrational

differentiable at z = 0?7 (Justify your answer.)
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5. Let fi(z), fa(x), ..., fa(x) be n differentiable functions satisfying f(1) = 2 and f}(1) = 3 for
all  =1,2,...,n. Let g(x) be the product of these n functions: 2

g(x) := fi{z) falx) -+ fulz).
Find g'(1).

B Ko proloct whe,
5(0 > f‘: (,0 {: )-S50 & ‘;Lh 4 mg{‘n) ? )
e 2SS b ) G,

Cod § fhene n Yeems = 51 fke f B N3 § 2.2
o~nd (- {u.l\nu- ﬂg ?{h 3

Tp t’:ﬁo o J




